nloration, Ferdinand
g Portuguese noble,
, - quagmire of political
dismissed from service by the

les V of Spain.
New World west of 50
e to Portugal. Magellan
: 4 rity. On September 20,
hips. Mo year later, one of these
merica in search of a water route across
four ships searched along the southern
und the passage they sought near 50
ge the Strait of All Saints, but today it is

sa e and returned to Spain, so fewer sailors
g'r-_ama of the Pacific Ocean. Those who
 as the International Date Line in the early

insular conflict in the Philippines and was
sailors under the command of the Basque
estward journey to Spain and thus prove

arine and exploration.

(b) Land -
(d) Common Man

(b) Discussion
(d) Problem
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F

TAgIn m;_;@‘gﬁ

A‘”@ guen, o

southern _
o Lk

~ (b)Inland
- (d) Border

(b) Ocurrance
(d) Oceurrence..

(b) Agressive
(d) Aggrissive

(b) Musculauter
(d) Musculatur}

(b) Accidentall_y,
(d) Acidintally

(b) Embaras
(d) Emberass

tions, a sentence has been given in Direct/ Indirect
alternatives sug ested, select the

; one which best
tence in Direct/ Indirect speech. g

to herin a calm voice.

| shoot her if she didn't keep
shall shoot you if yoy don't keep quiet.
o shoot if she didn't keep quiet.

else she will have to shoot her

qu ie‘t‘
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B

ectat lled Vir
ctators said that ayed well applauded him,

tators | ayed weL

tell him the way to the
is the nearest inn?”
e eaid ‘ you tell me the way to the ney,
e travell . ter. "Which is the way to nearest inn7” =8ting;
; - ou tell me where is the nearest iy

neareSt :

sstaurant for a change.

d m!
Id go to some restaurant for a change
e e,

SLIQC [ S f-}([ (o} my
Yy { y

[;I H

: L g jon
has been (eﬂ/ ) Active voice. Choose the correct opl

 the rm[“-)unl) uﬁ]_)f; sive voice.

hox broken

ng taught by the teacher.
he teacher.



= Suspect in several cities.
ave been seen in several cities. ,
People in several cities

(b) Profundity
'(d) Dummy

/

(b) Motley "~
(d) Slmll_aL’

(b) Harmony
(d) Analogy 3

(b) Excellent
(d) Despair

(b) Wise
(d) Injudicious

ice cream left in the bowl|? i
7 Some (c) Any ( any
Few (b) So NSk

lneed money.

~ (a)Many ~ (b) Several (c) Some - (d)Any
d rain this monsoon. . i

(\;VfM“u?f Jaitha "~ (b) Some (c) A little (d) More




Bl took N

r weather frie
roub\ed

The thief was ¢
(@) Blue

Read the follo
LAW OF THE
| have heard
There 1s @ law
| have hear
He never attac
He goes 10 lie
And when the
Shake branc
ord: The mynah e
Covers the f
With her pro
| have hearc
d) Beacon When any b
The entire |
(c) Distract | have hear
act (d) Noble When the
i The silver

c) Proseci1t
) Frosecute

P

oed s And if a ro
u‘Ord
&orderly (d) Pale Then on a
Squirrel,

| have he:
There is ¢
In this m
Bottom " Even the
d
(d) D'St}y (Translal

(d) Decline
/

456. Theline
(a) The

() Stars () Sea o)1

(c) The
(d) The

Py
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eps the

Food (©) e

ice
4 o (d) offi

s friendS_
o el
(c) Bol n

(d) R%

that follow:

(c) Pale

answer the questions

his fill

out of the nest
escue.'

s nest reflects on the lake

INd cheetah walk in a file.

ungle O God ! All Powerfy | ;
im a law, ult Al Seeing 1 Al| Wise |

hen the lion has eaten his filllHe

/ ‘He n

Beeomes lazy on full stomach over attacks’ Mean th

s only to survile o
oes not attack an easy prey

CET 20
2
of 24




47,

48.

49.

50.

When the Weaver-bird’s nest hangs from a branch above a |ake—
(a) The nest is destroyed
(b) The slivery fish of the lake attack it

(¢) The silvery fish are friendly to it
(d) The nest falls to the lake i

In case of a hatural calamity, all the animals.
(a) Run helter-skelter |

(b) Create confusion

(c) Protect/safeguard one another

(d) Take cover in other's home

‘Proclaim a law’ means

(a) Make an announcement of a new law

(b) Break the law <=
(c) Change the law

(d) Destroy the city law

The poet prays to God for

(a) Turning the city into a jungle

(b) Making people more sympathetic and understanding
(c) Killing all animals

(d) Letting animals rule man

SECTION-II: HINDI






60 .

61.

62.

63.

mwa}mmmﬁqﬂﬁg‘

(@) T (b) faaT

(c) s (d) T
Seaf @ SUR W I B fa AT I &7

(a)’('n':f (b) IR

(c) 4= (@) ®:
frfaRaa ¥ F—w1 98 Wsm & HERT T8 87

(a) STifcaras (b) cafddarag-
(c) ToraTa® C)RIEEIEED
AU’ Tg BT ST ® BT—

(a) qulka=it (b) UL
ORER] (d) Ty
mm@gmm—%@@mwmmﬁaﬁﬂ—wﬁ?
(a) WP fomar (b) ¥gaa feman




designed New Delhi and its buildings.
! (b) William Adams

(@ Ripon,_
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al decision
ginalisation

Viuhammad Ghori

| Rana Pratap
) Rana Hammirdeva

check wind movement

(b) Terrace Farming
(d) Shelter belts

the world?
: (b) Brazil
(d) USA

e right to vote. This is known as:-
(b) Marginalisation
(d) Directive Principle

(b) Maize
(d) Millets

(b) Haryana
(d) Rajasthan

aratha administration ‘Peshwa’ refers-
(b) Revenue minister
(d) Foreign minister

the following offices.is held during the pleasures of the President o

(b) Governor of a State
(d) Chairman of UPSC




arliament
dition for flying of
jon for flying of Jet Airplane

i
) Exosphere”

erl ‘/\D | \\Dl@g@

. /
(b Legnslatlve Councn\
(d) Leglslatwe Assemb /

__,,.,4,—



shed “A History of British India”?

Hawkings (b) James Mill
N Hastings (d) James R@énnel
hola Kings conquered Ceylon?

ne of the ¢
|

(b) Rajadhiraj
(d) Itsing

(b) Europe
(d) Australia

(b) Viticulture
(d) Horticulfure

(@) 5 million (b) 15 million
(c) 10 million (d) 12 million

Which British commaﬁder was defeated by the Santhals in 18552
(a) Captain Nek Feville

. (b) Lieutenant Bastain
¢) Major Burrough (d) Colonel White
J /"

During winter North-Western part of India gets rainfall from
(@) Thunderstorm

(b) Retreating monsooﬁ
(c) Western Disturbances

(d) Tropical Cyc|ones

100.  Which planet is known as earth's twin?

(a) Venus (b) Mars
(c) Uranus (d) Neptune . & A
=
2z
- PART-I|
% SECTION-IV: MATHEMATICS
. lambs finish eating turnips in 8 days. In how many days will 2 lambs finish
~ them? .
& @6 (b) 8 (c) 10 (d) 12
2pic?, 8a'b’c’ and Ba’b?c? is
102, n factor of 2a°b"c’,
oo (c) 8a%b’c? (d) a'b*c?

2
I ‘ (a) 2a’b°c? (b) 6a’b’c




x 0.355 is
bt K)(x +6), then k =
FcE T . () 7
of the following is obtained by subtracting x’ - y* from y? - x’?
B o) 20+ TG 0 ¥ T (q) 2x*-y’)

(b) 24,3 ' (c) 1728 (d) 270000

cle having a d|ameter 10 cm has a chord of 8 cm, then the distance of the
the centre is

(b) Gcm 5 (c) 3<cm/«, (d) 4 @1/
A-~4x + 4) (b) (x* — 4x)
N - (d) (x2 —5x +6)

1; ‘x’ and ‘y’ are in an mverse varlatlon then which of the following is correct?
(b) x + y = constant

(d)— = constant
y

(b) 1
(d) none of these

gest numbers of the three consecutive numbers is x + 1. Then the

(c)x (d) x—1

(el {5°% (d) 12

,jda: the measure of each internal angle is
(b) ( Z=2) 90°
(d) 2n nght angles.



u,\‘;’-\ ubes eac )al surrace s
Of the following is the totalel
2cm?®  (b) 18 cm?

O consecutive even numbers are such that half of tF
Of the smaller number by

5. Then the larger number is
(a) 16 (b) 18
o

(c) 32

From a well-shuffled deck of 52 cards, one card is drawn at rando
Dability that the drawn card is a queen?
(a) 1/7 (b) 1/52 (c) 1/1‘3/, (d) 1/26

23.  If the sum of two consecutive numbers is 71 and one number is x, then the other
Number js-

(a) 34 (b) 3.5/. (c) 36 (d) 37
124.

How old will | be after 10 years, if my age before 10 years was

‘X' years?
(a) x + 20 (b) x- 20 (c) x+10
/

(d) x- 10
Which least number should 648 be multiplied to get a perfect cube?
(a) 3 (b) 2 Qi e




z 7
29
;7

, f"& 10560 8 Gosnstion by a5 80 keton vom g wi « -,

14 40 1
\ra of 74 57908
AN G py 11 11 vty s sossonnss Gossrn it of D% 308 1%
) % (&) 2%%. @) 10%

dference o 6% O W0 CMBBONIIE it -
8% then Yy > 5 s 18 15 3nd greater of e
w1 )14 4 @7

180, A shopkespsr purchased 2 rerigsrators lor s 9800 and fs 8200 respectiig)y
- Me sold them for s 160920, Loss I

(8) 2% () 4% () %% (4) 6%
131, 'The area of & ombus is 60 o, One diagonal is 10 om. The other diagonz! 14
(8) 6 cm (b) 12 om.. (€)% em (d) 24 cm.,
182, 603600 Is oqu’l to
(l; 6,036 x 10 (k) 5,0% % 10°
(c) 6,036 % 10 (d) 5,096 %107

183, Marked price of an articls is 10% more than the CP, If discount of 10% is allowes
then which of the following is right?

(8) 1% gain () 1% loss.

(c) no gain no loss () 1.1% loss

" 134, The number of outcomes when a dis is thrown is

(a) 4 (b) 2 (c) 1 (d) 6

186, Factors of xy = ab + xa - yb
, (n)éx-b y+a () (x=b)ly=~a)
(6) (kb y#t}' (dxrb)ly=a)

a gain of 10%, He gold

146,  Avinash bou d sold it ot
: ght an electric iron for e 1000 and 50 L A

~another electric Iron &t 6% loss which { for fs, 1600, On the transa
(l; profit of Rs, 7. Rt bevon O(m loss of fs, 75
(6) profit of M, 8, (d) loss of A8, 25

(d one of these
4
CET 2021/CLASS IX/IPage 16 of 2

f'[/ [ Lew
y

5‘(1 ——



' X
traight line basslng through ¢

heiorigin | S

it number 5 Ll i
5 | abb g divisible by 58, 1('2;;' p,d.;,b'. value(s) of b Is/are
and § an ¥ i
12 S di\gsi:ﬂe by 9, then the value of xis __,
AR ©3 ()8
ely. ot thek following is the value of 'm' in 55—”; =57
% )2 (©)3 @2 _
; , : s
The simplification of (3a =2 b)" ~abis 4—T 2572
|is 9 125 o _Z'g:ﬂf Gy
(@ 5-a* +=b? - 3qp
B 25, ‘147_ __2’§_b'z |
a — —b°+ab AL
25 9 i S !
N . - 7
c) = aZ = —9— b — 3ab
2 a2 +25p2 4 qp
wed | SR d &> e |
4 ﬁ The point (-3, ‘3), 55 ; (b) nearer to y-axis :
B t]ear(:r o i,;.;xns - (d) equidistant from x& y-axis _ |
- (Q)neartoor |
g uantities p and q vary inversely with each other, then :
” p -:;t)w(;uztient P remains constant |
(b) Sum (p + ) remai"s.rfg'z,‘:::an
o ai
- ) PD’;‘;:’:;‘(;Z ?pq_)- rqe)n:-‘emains consi‘a{t
f @D of each edge of a cube is tripled, what will be the change in its volume?
~ If the length of ea
sold. " (a)3times_ .
| (b) 27 times b4 "
§ ; (c) gti.mes 8 ~§.,,1 P~ ‘1
| S (d) 6 times =

v’

2 4? CET 2021/CLASS IX/Page 17 0f 24 4z
ST — - 4b AU -~ 0o T
— .~ e o %,7 £

s /2
: .4_|x_gu el 4—ab'//""P;’/io %L\Xﬁod)‘d.;;éo
b ' ;c?(t 11)7(-5(4*2)0"9?)%"*@(? 24 e, 5




| : t
‘ ey d (3, 3), we ge
147, By dining (-1, 1), (0.0 and {
,.1 ,v:. (a) a triang:jer';é;,:l.x 7. i . '
B tiner ing through origin-
ht line passing t )
Eﬁ)) : ssttrrzli?;ht line not passing through orig

ints li -axis?
148, Which of the following points lies on 'y

| (b) (4, 0)
F (@) (4, 0) i
: (c) (0, —4/), e
149. zN)hg:h of the following lies between 0 an (3; 4?;3
g0
(c)-2/3_ (

io of their ages w
150. The ages of A and B are in the ratio 5 : 7. Four years from now the ratio g
be 3 : 4. Then the present age of B is

14 -

(b) 28years— g’)(_,/ —

20 years

% 15years (d) 21years Kt 4 4

SECTION-V: SCIENCE

200Hb = )b
151.  Which of the following statements is incorrect?

(a) Friction acts on a ball rolling along the ground. - AL = 4
(b) Friction acts on a boat moving on water.

=28
(c) Friction acts on a bicycle moving on a smooth road.
(d) Friction does not act on a ball moving through air,

152.  An object is vibrating at 50 hertz. What is its time period?
(@) 0.02s — (b)2s
(c)02s (d)20.0 s

153. When electric

of colour of the soluti
(a) the chem
(c) the magn

154.  Which of the following gt :

human eye? 9 statements ig
(a) Cones ar
(c) Rods are

current is passeq through a conducting solutio
on. This indicates

cal effect of Current (b) the heat;

: g [ n
etic effect of curpgny (d) the lightni

n, there is g change

g effect of Current,
ng effect of current.
orrect régarding rogs and cones in the
€ sensitive tq d

Sensitive to bri

185, Pathogenic Micro-organ;
(a) pain killer ~ 92nISMs py
(c) antibiotics

Im light, (b) Cones are
ght light,

Sensitive tg bri
(d) Rods can se

ght light.
nse coloyr. pllc
€sent in host cells are killed b I
: Y medicin
(b) antibodieg es called
(d) vaccines
N —
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he two micro- it ( |
P amors organisms which live in symbiotic association in lic
g protozoa "(b) alga and bacteria

¢) bacteria and protozoa (d) alga and fungus.

e \(I:;“rfgozggn of the following term is not a part of the nucleusfﬁ ~ b
h = (b) nucleolus i
(c) chromosome (d) gene ‘

168. Given below are event jro
) s that lead t of embryo.
(i) Fertilization of egg ad to pregnancy and.developmén mory

(i) Maturation of egg
- (iii) Release of egg
(iv) Embedding of embryo in thickened uterine wall.

% Which of the following options gives the correct order of sequence in which they

ocecur? . :
(@) i, ii, iii, v, (b) ii, i, iii, iv
(€) i, iv, ii, iii (d) i, iii, i, iv.
/
159. Which of the following is not a green house gas?
(a) nitrogen gas (b) water vapour_—
(c) methane gas (d) carbon dioxide
160. Part of the eye which controls the light entering is called .,
(a) iris~ (b) cornea
(c) lens (d) retina/\/
161. Streptomycin and Terramycin are the antibiotic obtained from:
(a) Bacteria : (l;) Fungus
Protozoa
(c) Algae (d) GEL
162. The following element is used for vulcanization of rubber:
(a) Sulphur_- ' (b) lodine
(c) Phosphorous (d) Potassium

163. Metal A dipped in a salt of metal B displaces B from the solution. This

shows that:
(a) A is more reactive than B ' (b) B is more reactive than A
(c) Both A and B are equally reactive (d) None of these

164. The organization that maintains Red Data Book is:
(a) IUCN : . (b) UNESCO
(c) WWF_— frpbio

\




7

The or ahelle that transports substances from one part of the cell 16 oty
165 (a) Engoplasmic reticulum (b) Mitochondria
() Golgi bodies_ , (d) Vacuole

~ 486. Cells that lack a well-defined nucleus surrounded by 8 NUCISA! ey u. P
- called:

jecti : Eukaryofic
(a) Objective (b)
(c) Prokaryotic (d) None of these
- 167. Nuclei of each human cell contains_________of chromosomes
: (a) 25 pairs (b) 20 pairs
‘ (c) 23 pairs/, | (d) 22 pairs
| 168. Oviparous organisms give out: J
(a) Fertilized egg (b) Unfertilized egy
(c) Embryo (d) Baby
’ . 169. The special shape of the body due to which it experiences least flukd fritin
is called:
(a) Streamlined_~ (b) Oblong
(c) Cuboidal (d) Spherical
170. Loudness of sound is proportional to the
(a) Amplitude of the vibration (b) Frequency
(c) Square root of ampli’tude/ (d) Square of amplitude
171. Sound waves travel slowest in:
(a) Solids (b) Liquids
(c) Gases (d) Vacuurm

172. If the gap in an electric circuit is filled with a2 liquid, the current in e o ?
(a) Always flows
(b) Never flows
(c) Flows in some cases and not in others
(d) Flows only in case of distilled water

731 l(\n) eslzgtric pen is being used to get red coloured writing. The materials
a ium Chloride and turmeric b) Potasgsi
(c) Sodium chioride and starch e i

\\

7
et atacer
RWD SADAY -

(d) pmsi‘um ;/Ar{l‘e Zr s Yarnes /
174. On increasing the le ; P
Images angle between two reflecting surface e

(a) Increases

(c) Does not change gg; Dwe?:ﬁﬂ’/

Remains constant

175. The impression of an image on reti ’
etina persists f,
(a) 1/10" of a second persists for
(C) 1[16th°fase% fg) 1’15, da second
| . ) 1 secon
-*\\ d ///

Y.
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(b)Bacteria
’ () Nucleolus

R

P s b, e ok aedl -
113 year old , | have gone around the sun times.
e gone round thelSUNLFRR. - 5 & Wi TR A MBS 0 & BN A

(©)26
(d) shal

| go round the sdn when‘l shall be 15

. Kilogram weight is equal to A :
- (@) 98N o TR (D) 918N S : |
(c) DROBINEIEE G - (d)0.098N - Al

. A container ié_ filled with water as shown in the given figure. Which of the
ing statements is correct about pressure of water?

(a) Pressure at A > Pressure at B > Pressure at C
(b) Pressure at A = Pressure at B = Pressure at C
(c) Pressure at A < Pressure at B > Pressure at C

(d) Pressure at A < Pressure at B < Pressure at C_-

N 1}
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183. A brick is kept in three different ways on a table as shown in given f

Qure The
pressure exerted by the brick on the table will be

T B X

(a) Maximum in position A— (b) Maximum Iiln posistion B

(c) Maximum in position C (d) Equalin all case
184. "A pendulum oscillates 20 times in 4 seconds. Find its time period.

(@) 0.05 sec (b) 0.001 sec

(c)0.2 sec_—- - (d) 0.1 sec
185. If two plane mirrors are inclined at an angle of 40°, number of Images formeg
be ]

@7 ()8 — ()9

(d)5
186. Two mirrors A and B are placed at right angles to each other. A ray of
incident on mirror A at an angle of 25° falls on mirror B

reflection for the ray refl

ected from mirror B would be
(a) 25° (b) 50° .
.

(c) 85°
187. A spring balance i
(a) Mass

(d) 115°
S used for measuring

(b) Weigh} (c) Pressure (d) Speed
j88. When the ham '

(a) Gravitation

al force alone
(c) Electrostat

ic force alone (b) agnetic force alone

DERE rictional force alone
189. Name the type of mirror useqd a¢ i
a :
(a) plane mirror i oy rTor
(c) conveg mirror_— :?‘f;lv;xt r:r; irror
» se
190. which of the following ig ot a lumingyg Object
sun &C
(C) moon (b) Candle
Pt (d) tube light

191, Sl make g kaleidosco € We req .

(a) three plane mirrorg Squire

() three glass sheets— (

after reflection. The angle of

light




When electrodes are immersed in water and electricity passed , the bubble
ed on the negative terminal is actually

------------ gas.
| % E\%?:gen (b) nitrogen

1 , ~ (d) carbondioxide
493. The voice box is also called as
?) mouth (b) toungue
© Iarynx/ (d) stomach

104. The liquid material in the nucleus is
& (a) chromosome

(b) bacteria
.(c) nucleoplasm

(d) nucleolus
1195.  Which of the following ca
(@) Toys o
(c) Carry Bags
i

nnot be recycled?

(b) Cooker Handles
(d) Plastic Chairs

196. The amount of energy produced on complete combustion of 1 kg of a fuel is
called?

(a) calorific value

(b) significant value
(c) heat value

(d) internal energy

197. Which zone represents the partial combustion in candle

(a) Outer zone (b) Middle zon
(c) Inner zone (d) Lower zone

198. The hearing range of human earis
(a) 20 hz to 20,000Hz

(b) less than 20 Hz
‘ (c) more than 20,000 Hz

(d) 20 Hz to 25, 000 Hz

199. A natural gas stored under high pressure is called

(a) CNG (b) LPG-
(c) KLG (d) PNP
200. The frequency of subsonic sound is
(a) more than 20 HZ (b) 100 HZ
(c) less than 20 % (d) more than 20, 000 HZ
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